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E'OUNDATION ENG.

Fltll Marks : 100

Time : Three hours

2.

The figures ln the margln lndlcate
full marks for the questlons.

Ansuter any .fiue questions.

(a) Deduce the expression of ultimate
begring capacity according to Terzaghi,s
bearing capacity theory. 10

(b) Determine the width of a strip footing
for the following data :

Df =Lm, c=7.4t/*', d=28" ,T=l.T8tl^r,
FOS=3, load intensity = 90t/m,
lL=25'8, Nq=74.7, Nr=10.6. 1O

(a) Explain how the allowable load on a
pile group and a single pile is estimatedfrom pile load te st as per ISspecification. 10

Contd.
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